
https://www.certbus.com/102-500.html
2024 Latest certbus 102-500 PDF and VCE dumps Download

 

 

 

102-500Q&As

LPIC-1 Exam 102 - Part 2 of 2 - version 5.0

Pass Lpi 102-500 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/102-500.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Lpi Official
Exam Center

 

 

102-500 PDF Dumps | 102-500 VCE Dumps | 102-500 Practice Test                                1 / 6

https://www.certbus.com/102-500.html
https://www.certbus.com/102-500.html
https://www.certbus.com/102-500.html


https://www.certbus.com/102-500.html
2024 Latest certbus 102-500 PDF and VCE dumps Download

QUESTION 1

When the command echo $$ outputs 12942, what is the meaning of 12942? 

A. It is the process ID of the echo command. 

B. It is the process ID of the current shell. 

C. It is the process ID of the last command executed. 

D. It is the process ID of the last command which has been placed in the background. 

Correct Answer: B 

 

QUESTION 2

Which of the following words is used to restrict the records that are returned from a SELECT SQL query based on a
supplied criteria for the values in the records? 

A. CASE 

B. FROM 

C. WHERE 

D. IF 

Correct Answer: C 

 

QUESTION 3

In which file, if present, must all users be listed that are allowed to use the cron scheduling system? (Specify the full
name of the file, including path.) 

A. /etc/cron.allow 

B. PlaceHolder 

C. PlaceHolder 

D. PlaceHolder 

Correct Answer: A 

 

 

QUESTION 4

What output is produced by the following command sequence? 
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echo `1 2 3 4 5 6\\' | while read a b c; do 

echo result $c $b $a; 

done 

A. result: 6 5 4 

B. result: 1 2 3 4 5 6 

C. result: 3 4 5 6 2 1 

D. result: 6 5 4 3 2 1 

E. result: 3 2 1 

Correct Answer: C 

 

QUESTION 5

Which of the following statements is valid in the file /etc/nsswitch.conf? 

A. multi on 

B. 192.168.168.4 dns-server 

C. hosts: files dns 

D. include /etc/nsswitch.d/ 

Correct Answer: C 

 

QUESTION 6

Which of the following can the chage command NOT change? 

A. The number of days since January 1, 1970 after which the user\\'s account will no longer be accessible. 

B. The number of days since January 1, 1970 after which the password can change. 

C. The number of days since January 1, 1970 since the password was last changed. 

D. The maximum number of days during which a password is valid. 

E. The number of days of inactivity after a password has expired before the account is locked. 

Correct Answer: B 

 

QUESTION 7

X is running okay but you\\'re concerned that you may not have the right color depth set. What single command will
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show you the running color depth while in X? 

A. xcd 

B. xcdepth 

C. xwininfo 

D. xcolordepth 

E. cat /etc/X11 

Correct Answer: C 

 

QUESTION 8

Which configuration file would be edited to change the default options for outbound SSH sessions? 

A. /etc/ssh/sshd_config 

B. /etc/ssh/ssh 

C. /etc/ssh/client 

D. /etc/ssh/ssh_config E. /etc/ssh/ssh_client 

Correct Answer: D 

 

QUESTION 9

What entry can you add to syslog.conf file to have all syslog messages generated by your system go to virtual console
12? 

A. *.* /dev/tty12 

B. /var/log/messages | /dev/tty12 

C. | /dev/tty12 

D. syslog tty12 

E. mail.* /dev/tty12 

Correct Answer: A 

 

QUESTION 10

Which of the following tasks can the date command accomplish? (Choose two.) 

A. Set the system\\'s date and time. 
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B. Set the system\\'s date but not the time. 

C. Calculate the time span between two dates. 

D. Print a calendar for a month or a year. 

E. Display time in a specific format. 

Correct Answer: AE 

 

QUESTION 11

Why is /etc/shadow not world readable if the passwords are stored in an encrypted fashion? 

A. The encrypted passwords are still subject to brute force attacks. 

B. This is just for historical reasons. 

C. There is other information in the file that needs to be kept secret. 

D. The passwords can be decrypted by anyone with root access. 

Correct Answer: A 

 

QUESTION 12

Which of the following is a legacy program provided by CUPS for sending files to the printer queues on the command
line? 

A. lpd 

B. lpp 

C. lpq 

D. lpr 

Correct Answer: D 

 

QUESTION 13

Which of the following commands should be added to /etc/bash_profile in order to change the language of messages for
an internationalized program to Portuguese (pt)? 

A. export LANGUAGE="pt" 

B. export MESSAGE="pt" 

C. export UI_MESSAGES="pt" 

D. export LC_MESSAGES="pt" 
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E. export ALL_MESSAGES="pt" 

Correct Answer: D 

 

QUESTION 14

Which of the following lines are valid in the file /etc/hosts? (Choose TWO correct answers.) 

A. 2001:db8::15 www.example.com www 

B. www.example.com www 203.0.13.15 

C. 203.0.113.15 www.example.com www 

D. www.example.com,www 203.0.13.15,2001:db8::15 

E. 2003.0.113.15,2001:db8::15 www.example.com www 

Correct Answer: AC 

 

QUESTION 15

What is true regarding the command userdel --force --remove bob? (Choose TWO correct answers.) 

A. The user bob is removed from the system\\'s user database. 

B. The user bob\\'s home directory is removed. 

C. The locate database is updated to drop files owned by bob. 

D. All files owned by bob are remove from all mounted filesystems. 

E. In case bob was the last member of a group, that group is deleted. 

Correct Answer: AB 
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